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You can always use the result of previous question to answer the next question. For
example, you are not able to prove question 1A, however, you still can do question 1B

(rx* +1- cosh ox) sinh ux

by assuming ¢(x) = Lzln[cosh ux +
x
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A. (Spoints) Show that ¢(x)= Lzln[cosh ux+ (rx” +1 ?OSh ox)sinh ux]
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B. (10 points) Find ]ime(x)
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B. (10 points) Show that g (cx,m) =2og(a,m)
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C. (10 points) Show that g{a,m) < ——|.,—t e *dt + ——=|e *dt
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D. (5 pomts) Find ]imeg(a,m)

RI—m

R

where




B30 b T £ R T 98 B 4 BT 25 A A 5 S RS

| B b Rk A EWAE MM A2E 427
3. RTF IS -

[ max(3y,y)dx (10 )

| jmin(3y, e (10 4°)

1
—_—, E¥x|<] - (10 4
fioe X<t tom

4. ¥R i(sin"'x)z
dx

0 2x?

S e[ o —dvenimiER . (104)

6. [ Zaveatitan . (10%)

RALE R




